Alg 4-2-19.notebook April 07, 2020

Solving Equations by Factoring: Example 1:
allows us to solve equations of degree 2 and Solve b f' tori hl
higher using skills we've previously learned 2)(()2‘£f7 1 8yx icz(glf% -'J%:\—

Steps:
1. make sure the equation is equal to zero; if not,
make it equal to zero
2. factor the equation like we have done

Step 1: E-'Zlual to 0‘}'_= yes .
Step 2: Factor. Is there a GCF? - yes x +9x+|4= O
Factor. Since there is just (% ¥T)x+13=0

previously (GCF, Reverse FOIL, slide & divide) X, find the factors of last
3. set each factor (or set of parentheses) equal to that add to be the middle. =0 »#2:0,
7610 Step 3: Set each parentheses equal to 0578 "2
4. solve each equation for x Step 4: Solve.
Example 2: ]
Solve by factoring. -3y = léjxlample 3 tori _2ljl‘5
2_36= olve by factoring. -
X'5336 -55)5 g -5‘0:0 XZ-SX- 12=0 3
Step 1: Equalto0-no. x - 3% Step 1 - done
Step 2: Factor. No GCF. 0 St eg 2 - no GCF u 0
. 2 - - . -
No fzggicéefq;:&ﬁat - +H= Factor with slide & divide, (*'f"-‘é%—"
AN=0
add to be middle. o G2
Step 3: Set each parentheses = to 0X;7=Q, X 9\ Step 3 - set cach parentheses =0 X }4=Q 2”?_ S®

Step 4: Solve.

r_\_g/\__:b Step 4 - solve. = =R
Ross @ x=-%

Example 5: Example 6: . —WLD|=

Solve by factoring. SO; by factoring. -z 5 ‘

a2_24a:_1\4 "..(\i\_-j_j_ o -Wa+\44:0 X -7x-20=0 ( +5)= 0

Step Merot00 (- \D\(@-2)= © Step 1 - done X'%’-\ (-".\_3 -

Step 2 - factor - no GCF Step 2 - factcﬁi No (?(?F’ g, & -Nx+5: 0
factors of last that add up S0 slide and divide.

to middle Step 3 - set each parentheses = 0 X-§=8, 3¢ *.\;,F%

=0
Step 3 - set each parentheses 0-12:0,_40-12=
Step 4 - solve 0.=12 Step 4 - solve. %, -5
Since roots are the same, the vertex is also the root.
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